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1 IF f{z) = € g(z), g(0) = 2 and ¢'(0) = 5, then f/(0) =

rd
a) 7 g(x) = e,x NSRS ef j,(x)
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c) 6 . 4 _ 3(0) v 3’(0)
d) 8 IO
e) 11 - 2'\"5

2. If f(t) = csc(t), then f” (g) =
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h(z)

3. 1f g(z) = ===, h(2) = 4, '(2) = —3, then the slope of the normal line to the curve
' T
gz} at z=21is

3’(x5 - X W)~k (X).
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5 If f(2) = ax + B is the linearization of f(z) = e ") at 2 = (0, then the sum
o + 3 equals
~Sinfux)

$() = -doslix) e

a) —3

b) -2 = '?/(o\': -4 |
c) -1 , 6\
Q) 0 L) = Blo) + 5 L) (X

e) 1

— V-4 X
,e d,%B:#L&'\"\:-’B

6. The position of a particle is given by the equation
s(t) = 2% — 92 + 12
where ¢ is measured in seconds and S in meters. The total distance traveled by the

particle during the first 3 seconds is
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7. Ity =In(cos (In z)), then T

| \
2) —tan (In 2) Olj L — . (___ Sia (‘“x)) . J)Z
b) V— tanﬂzln ) OIX Cos “{]X)
tan (hx)
c)
d) tan(ln z) - - chz(\ (\\’\ K\
e) tanil;] T) x

8. If y = ¢, then y'(z) =
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9. For f(z) — (z+1)(z\/?%(_;:+8)em | F1(0) =

(Hint: You may use logarithmic diffe‘ren.tiation)

‘f\-?(x) pnd \n(:(-\-ﬂ —\r\n(vh»'-l\ -’\r\n(ﬂ‘ﬂ -’rXQ--";\n(M-m)
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10. The radius of a circle decreased from 2em to 1.9 c¢m. Use differentials to estimate
the percentage error in calculating its area. ‘

-3 S
a) decres | b lo(y — — o
a) decreased by 10% /4 — 1Y 5 Jf - —O. QJ (= o
b} decreased by 20% .

¢} decreased by 5%
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11 lim (14 2)705 =
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12. Find o if 2% +¢* = 1. |
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13. The slope of the tangent line to the curve y =
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gin~!

n at x =01is
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14. ‘The slope of the tangent line to the curve of tan™*(zy) = = (2* + %) at (1,1) is
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16. The number of points on the graph of the function f(:.'v:')fz.(»:os3 % — 3sin x,
0 <z < 27 al which the tangent line is horizontal is:
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17. Ity = (2z + In 2)™E D then /(1) =

%f“j - Swlg-tb) \ﬂ ﬁle\ﬁx\h
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d) 2 f |
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Neter Y{y)= L.

18. Gas is escaping from a spherical ballon at a rate of 2 cubic feet, per minute. How
fast is the surface area shrinking when the radius of the ballon is 12 feet?

o %
Vo= %‘WTB > NV -y %—k/{w\m
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19. Two objects start moving from the same point. One travels south at 2m/s and

the other travels west at 4m/s. At what rate is the distance between the objects
increasing 5 s later?

a) 2v5m/s

b) gm/s 5

2 L.
c) 4\/577@/3 S =X "":j
d) ?m/s 28 h&fé_h
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20. If f(2) = 2 + sin2z, then fO) () = =y S om o= — =D a fe
fla)y==x sine2z, then ¥ {x) cl'g 7

a) 2% cos (2x) __C.EL ;65 :-0 ,
b) 2% sin (22) @i}iﬁ

¢) —2% sin (22)
d) 2% cos (2z)

e) cos (2z) kh  9ix) = S&"e‘ﬁb %)
Glad = 2 Cos(a K
¥ 2
Gix) =2 Sn(2x)

% 3 .
AUx) = -2 s ((2x)
% af
9 (x) = + 2 sinfax]
N
X‘ (x‘) = 0 - L (s (2x)
3t
B (;ass(zx)



